Transformation Quiz Review

Honors Geometry Name
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Jite the rule of the transformation.

1) A figure is translated 3 units right and 2 units
down.

(1Y) =>(x+3,y-2)

2) Afigure is reflected about the y-axis.

@‘9) 2 ("xlﬂ)

3) Afigure is rotated 90 degrees CW.

(xiy) = (y,-x)

4) Afigure is reflected about the liney = 4.

(YIU) =iy (Xf'lj+6>

5) A figure is translated <3, -1> and reflected
abouyt the x-axis.

(X=Y) = (x+3,y-1) —>(x+3, - Y+ ')
6) A figure is rotated 90 degrees &w.CCW
(xy) = (~y,x)
7) Afigure is reflected about the line y = x.
(xt")) — (‘j 1¥) '

8) A figure is rotated 90 degrees CCW about the
oint (2, 6).

(1Y) —> (%-2,Y=0)=> (~y+b,x-2) _

—> (Y +8, x+4,

Describe the transformation.

9) (x,y) > (x+1,y-4)

12) (6, y) > (x+2,y)

15) (x, y) = (x,=y)
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10) (x, y) > (y, =)
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11) (x, y) = (-x, y + 3)
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Find the specified image coordinate.
18) If A(2, -5) is rotated 90° CCW about M(3, -1),
whatis A2 (%) > (X-3,Y+I)
—> (=y-=I,%=3) => (=y+2, X=4)
A-"(—b "2)
19) If L(-2, —2) is translated 4 units left and 5 units

up, what is L'? LI (--(0,, %>

20) If Aiis reflected about y = -1, the image, A, is

(4,10). Whatis A? (4.’ -12)

21) If Lis rotated 180° CW about W(2, 0), its
image, L', is (-3, -4). Whatis L?

L(T,4)

Short answer.

22) Aline segment P is rotated 90° CCW about the fixed point of J. How are T, J and T’ related?
TILTI ©6R ALTuT’ IS ReHT

™\ Aline segment RS is translated by the vector <3, 4>. How are RR'and Ss' related?

—

~ - gR' Il s¢/ 4 RR'D &g
24) Aline segment ABis reflected across the line XY. How are BB’ related to XY ?

XN L bis or BR'



D

Complete the transformation of the new image. if the rule was provided, describe the transformation. If

the transformation was described, write the rule. TRMNSUITTE 2. RIEHT
ROTATE 90" ccW TRANSANTE, {-4,~3) REFLECT DVER X-ANIS ()
25) AB(x,y) - A'B'(-y, x) 26) ACDE (x,y) > AC'D’E’ (x—4,y-3) 27) JK(x y) -91 K’(x+ 2,-y)
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31) AB{x, y)'> A'B'ly + 3, =) 32) ACDE (x, y) > ACDE’ {y, X) 33) JK%, ) > TR—x + 1, —y -1
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Describe in ‘t‘;{d\ T%z‘sf?;matlon s; wn and write the rule for this transformation.
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